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COST ACCOUNTING AND STATISTICS

: |
(Honours in Marketing Management)

PAPER—MH-6
Full Marks : 100
Time : 4 Hours ‘ |
The figures in the right-hand margin indicate. full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Nllustrate the answers wherever necessary. |

Group—A

1. Answer any one question from the following : 1x15

fa) What do you mean by cost? What are the different
types of cost ? Distinguish between cost Accounting

and Financial Accounting. . 3+6+6
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(b} (i) *Variable cost per unit is fixed while fixed cost
per unit increases when there is decrease in =~
production” - Make your comment on the above

statement using numerical examples.
(i} Write down the limitations of cost accounting,
10+5
{c) (i} A Ltd. furnishes the following information:

Consumption per Quarter - 300 units

Cost per unit - Rs.40

Cost of processing an order - Rs.600 B
Obsolescence - 15% -

Insurance on inventory - 25%

Compute:

(a) EOQ.

(b) Number of orders per year.

(c) Time between two consecutive orders.

>
{iij Write a short note on Just in Time Approach.

10+5
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2. Answer any three questions of the following :  3x8

(a} Explain the treatment of idle Time’ in Cost

Accounting. What do you mean b& “Bill of Material” ?
' 642

(b) A workman's wages for a guaranteed 44 hours week
is Rs.75 per hour. The estimated time to proddce one
article is 30 minutes and under an incentive plan, the

time allowed is increased by 20%. |

Durmg a week, a worker produced 100 articles.

. Calculate the wages under:
{i) Rowan System.
(i} Halsey System. 8

{c) What is an ABC Analysis ? Mention its importance.
| 4+4

{d) Discuss the causes of under-absorption and over-
absorption of overhead. What do you mean by labour

turnover cost ?  6+2

(e) Distinguish between job costing and contract costing.
8
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3. Answer any three questions from the following : 3x2
(a) What do you mean by ‘abnormal idle time’? - 3

(b) Write a note on opportunity cost. 3

fc} Distinguish between allocation 'a_nd apportionment of

overhead. ; 3
{(d) Write a note on ‘Semi-variable costs’. 3
e} Write a note on unit costing. 3

[ Internal Assessment — 5 Marks]

Group—B

4. Answer any one question from the following : 1x15

(a) (i) The mean and standard deviation of 20 items is

found to be 10 and 2 respectively. At the time
of checking it was found that one item 8 was
incorrect. Calculate the mean and standard

deviation if,
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{i} the wrong item is omitted, and
(i} It is replaced by 12.

(iiy What are the important properties of arithemtic

mean ? ;12+3

(b) (i) For the Variables x and y the equations of two
regression lines are 4x-5y+33=0 and | 20x -
9y = 107. Identify the regression line of y and x

. and that of x on y. What is the estimated;value

of y, when x = 10 ? Also find out the value of 7,,.

‘ \
(i) What are the important properties of correlation

coefficient ? : 12+3
: i
(c) (i) What is cost of living index number ? What are

its uses ?
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(ii) Calculate Fisher’s Index Number from the given

data.

Items Py(Rs.) Q. (Kg} P,(Rs.) Q,(Kg)

A 8 60 10 40
B 6 40 10 o0
C 10 60 8 60
D 12 80 15 S50
E 10 100 ) 18 120
5. Answer any three questions of the following : 3x8

(a) Explain different types of correlations with the help = -

of scatter diagram. 8
(b) () What are the relative measures of dispersion ?

(if) Establish the relationship between correlation

coefficient and regression coefficient. 4+4

(c) Using a numerical example show that Fisher’s

formula is an ideal index number formula. 8

(d) Discuss the different components of time series ? &

8
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(¢) Draw a pie chart using the following information:

Heads Amount

of expenditure of Expenditure (RQ.[
Fooding ' 5000 |
Clothing 1000

Fuel & Lighting 1500 !
Education 1500

Miscellaneous 1000

10000

=" 6. Answer any three questions from the following : 3x2
(a) If by, = 0.5 and b, = 0.25, find the v;lue pf ¥y -

(b) What do you mean by Rank Correlation Coefficient ?
(c) Distinguish between primary and secodnary data.

{d) Mention any two limitations of moving ;average

method of estimating trend of a time series!
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(¢) What do you mean by Time Reversal Test of Index

Number ? ey

[ Internal Assessment — 10 Marks]
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|
A Ltd. furnishes the following information:

Consumption per Quarter - 300 units
Cost per unit - Rs.40

Cost of processing an order - Rs.600
Obsolescence - 15%

Insurance on inventory - 25%
Compute:
{a} EOQ.
(b) Number of orders per year.

(¢} Time between two consecutive orders.

“Just in Time Approach”-93 87 (5 FFee T
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(¥) A workman's wages for a guaranteed 44 hours week
is Rs.75 per hour. The estimated time to produce one
article is 30 minutes and under an incentive plan, the

time allowed is increased by 20%.

During a week, a worker produced 100 articles. _

Calculate the wages under:
{ij Rowan System.

(i) Halsey System, 8
(1) ABC Rusiad &2 Tz@ 0wy Sroy 94| 8+8

(9) SR w1 S ¢ SfE-erTRrE FEtefE Sred 7|

“Labour Turnover Cost” IAS e _ (CTR- S 7
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81 (%) (i)The mean and standard deviation of 20 items is

found to be 10 and 2 respectively. At the time of
checking it was found that one item 8 was incorrect.

Calculate the mean and standard deviation if,
(i) the wrong item is omitted, and

(ii) It is replaced by 12,
(i} Arithmetic Mean-93 o%qss (3IMBrafer 191 Sa+0

(¥) {i) For the Variables x and y the equations of two

regression lines are 4x-5y+33=0 and 20x-
9y = 107. Identify the regression line of y and x and

that of x on y. What is the estimated value of y, when

x=107 Also find out the value of 7,,.

(i) Correlation coefficient-aq aFgs{f (afiBrofa @4

349
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(51) (i) ‘Cost of Living Index Number’ 32 237 Gormfaret &2

= (i) Calculate Fisher’s Index Number from the given
data.
ltems  Py(Rs.) Q,Kg) PuRs) Qu(Kg)
A ' 8 60 10 40
B 6 40 10 50
C 10 60 8 60
D 12 80 15 50
E 10 100 18 ‘ 120
= @l UG fEA grea Tad e ¢ oxy
(¥) ‘Scatter Diagram™&a3 FITY RfSH *=aa Correlation
[/ I Ua
|
(d) (i) Dispersion Relative measures of# &
(i) Correlation Coeficient &R Regfession
Coefficents-99 I g 2o I 8+8
i o

(o) <3 TUITHE AW 1A (T Fisher-4¥ ¢ Index
Number-¢3 «&f WTW‘(TIGII ‘ b
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(9) Time series-«7 Rfey Componen{ ofe e 79

(8) Draw a pie chart using the following information:

Heads Amount
of expenditure of Expenditure {Rs.|

Fooding 5000

Clothing 1000

Fuel & Lighting ' 1500
Education 1500
Miscellaneous _ 1000

10000

Y| (Y R oA 4w Tag we ¢ , OX 3

(F) b, = 0.5 4R b = 0.25 LA y_~43 T @ F7|

" (¥) Rank Corrclation Coefficient Je(S & (IR} .y

(o) Primary and Secondary Data-43% STy <143 firds =3
R

(9} Trend ST CHFCH Moving average *&{%q ‘ifa Areet
TTEY I 2
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(8) Index Number-43 Time Reversal Test TE(S & @
<
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